PHILIPS

SERVICE

16.5-51 m (18,2-5,88 Mc/s)

196- 570 m (1530-522 ke/s)
750-1910 m ( 400-157 ke/s)

_ 110V, 125V, 220 V.
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VvoL. max voL. max VOL. max
~ A
== | 6, c8+15° T 1875 m (160 ke/s) A | 17.8Mes— Y ~
A | 150kes— Y A | 160 kejo— Y =2 | €6,€8 () 17,8 Mc/s
O C38 max O C50 max 0 C14 max ,,
o C18 max
R1 | 1200 O [48467101K2 | C1 50 uF{ | 48317 os/so+so‘
RIL 0,5MQ | 4950011.0 c2 50 uFy
RI12 47KQ |4855710/47K | €6 | 11-400 pF} [ A9 863 99.0
R31 | 082MQ |4855710/820K] C8 | 11-400 pFy
R32 10 KQ |4855710/10K [ C14 32 pF ' | 49 005 51.2
\ R33 68 KO |4855710/68K | C18 32 pF |49 00551.2
R34 1,5MQ | 4855710/1M5 | C19 39 pF | 48203 10/39E
R35 6,8MQ | 4855710/6M8 | C20 22 pF | 48 20110/22E
R36 | 0,68MQ |4855710/680K | €38 32 pF |49 005 51.2
R39 | 520 Q — c40 33 pF | 48 203 10/33E
R40 | 600 Q |4936290.2 c48 395 pF | 48 203 01/395E
R44 75 Q — €50 200 pF | 49 005 53.2
R45 | 580 Q — €51 103 pF —
R42 10 KQ |4855710/10k [ c52 103 pF —
R43 | 150 O |4849410/150E | c61 103 pF —
15° 09 992 50.0 R48 6,8 M | 48557 10/6M8 | co2 103 pF —
R75 | 2200 par |4855710/220E | €75 125 4F |48 313 22/100
2700 =1200)] 48 557 10/270E | €85 | 4700 pF |48 757 20/4K7
R81 47 KQ |4855710/47K | c100| 1000 pF |4875720/1K
R82 | 390 O |4846710/390E | C101 100 pF | 48 203 10/100E
c102| 470 pF |48 203 10/470E
c103 82 pF |48 203 10/82E
C104 | 47000 pF | 48 751 10/47K
€105 | 47000 pF | 48 750 10/47K
C106 | 6800 pF | 48751 10/6K8
C107| 100 pF |48 203 10/100E
c108 68 pF | 48 203 10/68E
c/8| € 6 C110| 22000 pF | 48 758 10/22K
c111 56 pF | 48 203 10/56E
C121 | 22000 pF |48 750 10/22K
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| ———
aT— 80 aT— 25 #
Va aH—=110 aH=110 105 - v
$13,514,517,518 | A1037 48.0* | S61,562,563,564, | 4 .
Vg2(4) 70 70 115 — v CoL, C62 | AL03712.4
$19, 20 A1 002 07.1
$76 49981 13.1
Vk 0 0 0 - v $33, 534,537,538, | { 4} 038 3.1
178 T 1s $100 -7 | s81,s82 Al 081 82.0*
aT = 2, aT= 1, _
Ia aH— 1,3 aH= 19 35 mA $39, 540 A1 002 08.0%
Ig2(4) 2,6 1,3 5,6 — mA $81, 852, 553,554, | { 4} 037 13.0+
1, €52 Iy s
VCl =145V, VC2 = 1159V, VC3 = 120V, VCI5 = 6 V, VS71 = 30 V, IS7l = 54mA. 93 953,13.1
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